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GENERAL ENOWLEDGE AND CURRENT AFFAIRS

The founder of the English
newspaper published from
Allahabad in 1909 was .........cccueee.e.
(1) Pannalal Ghosh

(2) Lalbahadur Shastry

(3) Motilal Nehru

(4) Pandit Madan Mohan Malviya

1909 &° soifos Beod Bisdod wdd
Gl TPTROT TOEHD weceareans

(1) souodis™

(2) ebeurusrbay

(3) WSS

(4) Bl BBl AFPL SPedah

The recipient of the first UN Malala
award was ........... |

(1) Razia Sultan

(2) Sugartha Kumari

(3) Rashmitha Priyamvada

(4) Anitha Rechal

QU IR, KT ST exclid¥oiy Do
5l 8.9 '

(1) BEa o

(2) SoNoy Xoaoed

(3) Binmm (aalizons

(4) wdeded

The winner of the 2014 Australian
Open Men's Singles Tennis
Championship was..............

(1) R. Federer

(2) Rafael Nadal

(3) S. Wawrinka

(4) Mike Bryan

WS-33/TET cum TRT-111-EM/TM
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2014 e3,S00WR £253 DY Htope oA,

(3) . TRe
(4) 5 (wars

=

First Vice Chairman of NITI Ayog

(1) Vivek Murthy

(2) Aravind Panagariya .
(8) Viswa Mohan

(4) Narendra Modi

DO PR B0k, T3 ETRHEIES eeeee
(1) 35500

(2) wbdeb Semaair

() 5 RFe

(4) Sosard

Vitamin 'A'is also known as ............
(1) Riboflavin

(2) Thiamine

(3) Caleiferol

(4) Retinol

DeaS A’ 50 BEP KPE® RIS weeraress
(1) 8828

(2) gourlos

(3) =Bypord

(4) BIFE
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6. Pﬂlrﬂm Yuva-llisa ..o 9. One of the following art styles
. {1? Wanship belongs to Bihar.
(2) missile
(1) Patta chitra
(3) supercomputer
(4) artificial satellite (2) Madhubant
S50 050 11 &30 verenrenne () Wexliass
(1) oty T (4) Kalamkari |
(2) 35e3 51300 Soteoed® 153 HiES 3850,
(3) 5735 Sorsresb (1) 55 D
(4) $@so e, & m:» .
7. Ballpoint pen was invented by ........ (3) 6 &8
(1) Loszlo Biro @ Seows
(2) Wilson .
(3) Waterman 10. The largest living sﬁe:cies of penguin
(4) Johannes - familyis.........
26 PO DO B0 B eSS b, it (1) King Penguin
(1) 6‘5&:&5‘ (2) Royal Penguin
(2) doyp ' (3) Emperor Penguin
(3) e (4) Macﬁmn Penguin
(4) &7 © | e 4
8. 'Angel Falls are located at- ......... ol T Bou2300006" R
W) Peru o 1
(2) Argentina | (1) 3oh Bofw
*(3} Brazil (2) ond Dolo
(4) Venezuela (3) 2ol Bofye
D028 6, 55,8 050 crrrrersennns (4) S80S oS
(1) 2
(2) esgodkor
(3) @S
(4)/Sderer
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CHILD DEVELOPMENT AND PEDAGOGY

11.

12.

13.

WS-33/TET cum TRT-111-EM/TM

Teaching operations in the
interactive phase are ..........

(1) prescriptive

(2) diagnosis

(3) achievement

(4) all of these

(1) daw (2) Sopbes

(3) 255 (4) Bl

One of the following statements 1s
not related to the principles of
convention on the rlights of the chnld.
(1) Right to participation

(2) Right to restriction

(3) Right to organization

(4) Right to information

300 08 oo i ed 2CRSIENE™

S TR0, '

(1) Sarsanodlo; vy,

(2) 26ped iy b

(3) By DG Sk,

(4)SrTFTY B X,

One of the following statements is

not related to the evaluation stage

in teaching phases.

(1) Suitability of
determined

(2) Reteaching the content

objectives

(3) Developing teaching strategies
(4) Impact of
environment

classroom

[4]

14.

15.

300 IS %% ST wroces HE
DO,

(1) ﬂaﬁsmmﬂwwnfﬁﬂ;ﬂcfﬂa
(2) ngiseioebdimn dakte

(3) S Prpitoiss trdeDotitio

(4) BENG RO TRErRes (Bgrsoy

The deficiency of amino acid,
phenylalanine leads to.one of the
following mental disabilities.

(1) Phenylketonuna

(2) Cranial anamolies

(3) Cretinism

(4) Magerocephaly

sl 5208 36 ool 6o Sus SR UMD
Bop.

(1) 3pB4tangas

(2) Encod emvobi

(3) 330l

(4) 2rEsd

Vijay, who 1s unable to frame and
write the words and sentences in a

complete form is facing the problem

(1) reading disability

(2) writing disability

(3) language disability

(4) mathematical disability

Dudl SO, TIER HARD W
oo ool Hvomnin - B

5B, 00355y FSNSg snseeeeess
(1) s (2 S pop

(3) gapSBee (4) Hed RSup



16.

17.

18.

As per the PWID Act 1995, the
individual having more than one of
the following dBHL leads to hearing
disability.

PWD 50 1995 fmetie 18033 300 06
2 dBHL 577 J85% dibecnd D034
O Y
(1) 60 dBHL

(3) 08 dBHL

(2) 10 dBHL
(4) 06 dBHL

A teacher dictating words for
spelling and Anita correcting
Radha's spellings 1s called
(1) community assessment
(2) teacher assessment

(3) peer assessment

(4) self-assessment

SRR oD GRS IR O Tt 150
&8 88 e DB TINBED oD ........
(1) Sore 5400 0

(2) dubabey

(3) AseSain,e Sde

(4) Somsndey

Number of tools used in the

formative assessment according to

DS S APPSO (T ITYEPHY
(1) 07 (2) 12
(3) 04 (4) 09

WS-33/TETcumTRT-111-EM/TM |

19.

20.

21.
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Artistes, Sculptors and designers
have more intelligence in one of the
following areascalled .............

(1) spatial intelligence

(2) language intelligence

(3) musical intelligence

(4) kinesthetic intelligence

SO, Dosen ik SRS iy 5w
T

(1) %5 @y (2) gkpz

(3) Scis e (4) 15 500ss e

The past learned material blocking
the present learning material while
recalling iscalledas.............

(1) retroactive inhibition

(2) repression

(3) mental retardness

(4) proactive inhibition

508" DERKY, DREEPL i BHinKy
DREIPEHD WHEHUH Dowipl eswol
(1) OF s wnthse

(2) saose

(3) SErelo

(4) HE RS wnbise

The concept 'I' and 'Me' were
introduced by ..........

(1) Bandura (2) Roger

(3) Watson (4) Allport

BN, O ey RSSO Hasolom

(1) wctor
(3) s

Turn Over



22,

23.

Rorschach Inkblot test is based on
one of the following approaches.
(1) Imaginative approach

(2) Perceptual approach

(3) Illusional approach

(4) Creativity approach

(628 508 5 509 &1 DRl

(1) &3t oo

(2) 0% dgrse

(3) (M350 Dgive

(4) Syers Do

Perception as a whole takes place

(1) insightful learning

(2) trial and error learning

(3) operant conditioning

(4) instrumental conditioning
SBED ST 208 ESI0 1ererarans
(1) escobipmestinito . |

(2) e Fsogssse

(3) SolyEhoctaG etissioo

(4) $ONTRES egissce

WS-33/TET cum TRT-111-EM/TM
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24. Sita answering every question asked

by the teacher and receiving

reinforcement every time is called

(1) fixed 1nterval reinforcement
schedule
(2) fixed

schedule

ratio reinforcement
(3) variable reinforcement schedule
(4) continuous reinforcement

schedule

W aPEREENG ol PO D
mw-wmww%
rolistiond.” 35,8 201 HAHOO e
(1) SToER PGS0

(2) RVGHB PRHERo

(3) BB PRS0

(4) QBoBYHese

16 PF questionnaire was developed
by .........

(1) Hatheway

(2) McKinley

(3) Jones

(4) R. B. Cattell

16 PF 79000 tdroloda Tt
(1) S5&
(2) 2832

3) £%,
(4) &b, D. =26
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26. Scaffolding was introduced in one of e TaToN Doegtice B3:0%0 RSP
the following theories. _ WhA & AT auﬁ‘a&amﬁeﬁ
(1) Constructivist theory msctbx:‘.: SRIOTHONID aeeresraneres
(2) Conditioning theory (1) Solprid oo
(3) Association theory (2) esonod wmﬂ-

(4) Insight theory (3) Q@?Emaﬁﬁa

30, 25000 Bootsed r6m S8y poso (4) Berio 2D TNt

(1) JorewtyS Spedo 29. A student byhearted a poem for 11
(2) auotﬁ:ﬁ?am-am times to learn. After one month, to
(3) SoRbompoio 7 relearn the same poem, he took 5
(4) 2, oo times. So the saving score of the

27. Ininkblottest W, D, d, Sindicate one studentis....u......
of the following : &5 DT D BT, Boline wofmrad 11 e
(1) Content ' o Bt el S SEE*e.D e uc;‘_sa:n
(2) Location €3 S0P S0 fbo‘.i:mc".ré B Py X5
(3) Originality T el 50508, Wity & Dong Do Kesd
(4) Determinants (1) 54
E28 Bovatse 36560 W, D, 4, S ) P
R ¥ & (3) 11.5
(1) Sseuse (4) 10
(2) Fdo 30. Rama playing similar games by
(3) STFDES watching others is described as .......
(4) Doassees (1) associative play

28, Teacherin the classroom as a leader (2) cooperative play
can develop self-learning and (3) social play
structuring of knowledge in the (4) parallel play
students through ............... TP FHLOS €310 W €D esesids
(1) institutional leadership est0ITHED =~ FD wereenrns ‘

(2) permissive leadership (1) :&'u:ﬁg &

(3) authoritarian leadership (2) hs s

(4) dominant leadership (3) om0y 3%
(4) waronl 85

WS-33/TETcumTRT-111-EM/TM [7] Turn Over



31.

32.

33.

According to Piaget, the limitations
of animism and egocentrism are
observed in the following stage.

(1) Preoperational stage

(2) Formal operational stage

(3) Concrete operational stage

(4) Sensorimotor stage

DAFE  Boe  wmoBorSe  Woboiw
esroSoltiartio 1 t566° Bsutiarany.
(1) g Bores &e

(2) Do Pores &%

(3) wol ol &5

(4) B ol &4

The following test is not included in
the subtests of differential aptitude
tests.

(1) Verbal reasoning

(2) Finger dexterity

(3) Abstract reasoning

(4) Spatial relations

oy ety 905 (DAT), &5 50y
o0,

L)

(1) =D Teesam

(2) worod oty By

(3) ey Jassas

(4) 1008 Sowogran

Ravi received a memo from his boss
and got angry. He showed his anger
on his children at home. This is
(1) reaction formation

(2) regression

(3) compensation

(4) displacement

WS-33/TET cum TRT-111-EM/TM
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34.

39.
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ED B9 6550 Mol AP ettt
BRSO B rer o dinol. R
3083 585 655 1w P oD « &
(1) Bosg ety

(2) porsse

(3) so:3se

(4) 2ysis0

Habit interference is an example
OF o oonsvsanens

(1) positive transfer

(2) negative transfer

(3) bilateral transfer

(4) zero transfer

‘oS SPBR’ — B3 St
(1) 58S wicrocd)

(2) 2ooers wloraod)

(3) Bt B

(4) oy mborane))

The process in which the sensory

lllllll

organs convert information into

code language to store easily and
recollect when required is called .......
(1) encoding (2) retention

(3) retrieval (4) relearning

TROBAIPRY HHFTORY, Hoespm Jey
SaorRd,  wBDURNHRE MU
BUpShHrrd Deom HoSBLSeSS Wty
(1) J58%&ah

(2) s

(3) ebiddunShoto

(4) xggsde



36.

37.

38.

Teacher can understand whether
the students are understanding the
lesson or not by ...............

(1) natural observation

(2) controlled observation

(3) participant observation

(4) nonparticipant observation

EFCROING JTten JoN, oo

LT B ey e &Y o |

PETIRES: isnensisisiorsns
(1) sscmves 50909

(2) RooBBHo -
(3) H$ouH 0D

(4) exs0v0B 80D

Collaborative learning emphasizes
the teaching learning process as ......
(1) method centered

(2) teacher centered

(3) teaching centered

(4) learner centered

BT egigte apded  Srggss
T, ST

(1) 358300590

(2) adrEniolys

(3) e Seodnn

(4) efgso3olNHs

The following is an intrinsic motive.
(1) praise from teachers

(2) reward

(3) self-respect

(4) appreciation of peers

WS-33/TETeumTRT-111-EM/TM

39.

40.

9]

When a science teacher and
students are engaged togetherin a
botanical garden, itisa...........

(1) social context

(2) cultural context

(3) learning context

" (4) learner context

i By ciantss, DO7pes WU STl
SEP 508" VMBS S0 LY verenane
(1) ol o

(2) Join )85 B0

(3) egiss i

(4) egpgssed S0

Self-paced learning is possible in

(1) activity based learning
(2) programmed instruction
(3) whole class téaching

(4) teaching in small groups

(1) HogPsetsssed’
(2) TEgEI0B H%E"
(3) Ruoto BN S8’
(4) O sdariste S8

Turn Over
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LANGUAGE I - TELUGU
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41,

42,

43.

44,

45.

WS-33/TET cum TRT-111-EM/TM

es, 3, & oF KPAS 9, far e D Soowrd.
(1) et
(2) orobsioons

(3) SoBgioen

(4) tgen

‘2 2 Tolin 1TPe0 eidaoIT Helitio 99
2GS o0 ey

(1) &3

@) 3@

(3) e, &

(4) o, &

Pew SOl SHedbew D5MbeD 0B
ORI, B0 208 eotTAE™)
O eRBNon Wil o gl
(1) Soidtoryrod

(2) B

(3) Ae=zraa

(4) TRotolB G

188 BobBEEREN, S BRI D 88,
SEFHOTS Koo B1 .

(¥ 5503 50

(2) RL>Ee

(3) BoUsTE

(4) Sookoy T

5% K05 ST ool [P Hotit,
(1) 558

(2) B5d
(3) Dot

(4) e

46.

47.

148.

49.

[10]

He 30D PAE* (oS gl eliro

(1) o 5o0B e Shyborr domd
(2) ey &5 et

(3) Brotlrotm Trp S D Sod

(4) Boare

L3 SH aSErEaw, esdarnngesr
O &) SEEL gonts

(1) essoidgoivass

(2) Bomsw

(3) Bosin

(4) sross

LD o TS - T4 e 96D Bak
(1) ensarss.

(2) esty

(3) sy

(4) DL

$HBED BHNE® 258 oo’ - LD KO
SETFESe Daeed?

(1) Dot

(2) o

(3) oot

(4) Sorats



(50-53) : 308 S5 98D 50 oed 53 w5 e
SO 300 STrre oJolek.

Deolo Emdy DBS D orechinsd
TR0 ($3T HaTiss woree ool (LEharess
FErRo D05 :’:a”-:»-:‘ﬁ:- aboNely Boddyores
SOPDOTRES. £ TPeos PR o TR, Beskd
Bagriye DaEttos® Earyons. Mormgines £5e3
$or DS e & oD wied® aon. W
D eass B, E KBRS Do’ LaFaw
T Bow :"fme.:-gm Fod )0, G Rew,
Bigrd, oo Dewlibo BOBEON BHED
ssrposs  erneSBE b (Syues’
LT, 0 BOOTED. DD ESFEERE DD
S, TOETGER 5 B0 TETRS aliod® (e
T Beslh HEsttod” &gt Besiod.

50. 3080 e |

(1) S3gpecm

(3) L&Fy

270 1 PR SSRERe

(1) Seyygor - 0 (2) Benid

(3) =t (4) FHve

SR B D0E’ S Se

(1) e (2) DS

(3) Seto (4) 500t

Hoemgadgtis Tk Boz

(1) ov L&D 3D (5008 ey S
EOWSD

(2) TP LAFD BoiyB, 5B, Deold
TROLICHEIE

(3) T £AFD Dol i SEsites’s

(4) TP LIPS Do Feogmis Wirod

(2) DoB0FY
(4) Hom s

al.

52.

53,

WS-33/ TETecumTRT-111-EM/TM
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(54-57) : 308 SPg), 10D 54 el 5T O K
(3D S50 SRR D0oU0G. ;
| sfoeiens Decariise

RGP0 GRS S0 $ohS

550 8550 Doden e

£5:50 Dojghoen FHodes B Sond

54, Shooptos IS0
(1) Boiorss
(2) geEai
(3) st

(4) S5TFes

554, Bz S50 (SPoo D DD, SHFob
(1) Sogevo

(2) Howwo

(3) Syeo

(4) q&:m

56. DB Boorew Koo BRid

Wroiact.

(1) 253

(2) SDootuihowrox
(3) =raForan

(4) odForan

(2Ran esold
(1) Eot &obiow

ai.

(2) G0 e
(3) SHel Godises
(4) 08 Sobh dotins

Turn Over



58.

a29.

60.

61.

62.

63.
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Do T STl 2 i3

(1) 5grls (2) n&ys

(3) SDGORS (4) wgso
(DRl STPED DR - B P50
(1) B8osgo

(2) SogrsTo

(8) Vgourgo

(4) doprgo

&1 300 PIE 50D PR oo

(1) o wrtpeH  Somber
&oeasod

(2) oo £33, Jodordd Y o
&otaed

(3) Beodteo, SO etites SOR Gotood

(4) BB &y, Seotond, SSEETT
DR Sos0od .

| BTN ok SETHHOS St

(B SO esBitom Wiy S0
(1) e (2) S
(3) wosax (4) &%

10 SO W T STy 7oLT ST -
B4R D T8 Sewofolid

(1) #08S w0

(2) e

(3) S sPeo

(4) eBE0 grdsree

HHEP oD [UB] ceereenee. " esd
BN PR e e Bto

(1) redsd (2) e

(3) arolibis (4) DazE

64.

65.

66.

67.

68.

[12]
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G &8 2 oed o 4cd. T TS
ABAGES B BnTmarls B0

(1) Soireo

(2) SSee

(3) Stwo

(4) Deo

“Seren oD SOBITHIL - H1TEo
(1) 850 50 |

(2) 8% 55 %o

(3) sEo o5

(4) 5583 0

S58 el RS A% HTves Ses Tlod
(1) oroe oeorabd m’g
(2) DioDokereinocis
(8) Ve TRCTDY

(4) 24y odzottscio
ity Sotioioe S0
STArG Sonte

Seise

G0 o’ - 30

(1) SEEDo

(2) o=

(3) ™o

(4) =0

“SSoNe’ DO SEo
(1) osxe

(2) o

(3) a0

(4) SFcsso
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METHODOLOGY
69. g5 Glooty, e SAIPeite 72. 365 B0 Jaresss ERCROoINGE SN
(1) 5% @Sado (1) amTBe vgrgre IR
(2) oGt Do (2) sissol® womd, Seskrd
(3) esEhor %3, DS
(4) :&r:ﬁ:’::.‘.m::;mm (3) ysBos™ e W AL
70. ERgrROIs ck_z_i'u‘ssp:ﬁa Desotsctar DO (8) oo 265 Ml Nadfen
(1) o9, psses® i, ool i U
$oamESd | | 73, GIPrioians PO Hrdrolionatsd
(2) ¥’ o, DD, VR Bom 00t Soios solbind
Ccar® (1) s DEe o :
(3) $OUMSSSeD, 2D, T oird (2) & SoPBto DoriooD FHOSEATT
(4) 5D, $BEmSE D, o’ aird ' ﬁ@-‘%@
71. %u‘g&:&%@ SRsHEsc0 (3) BTt
(1) 5000 by - Sortss D SR (4) wammgﬁu
- %95, SNy Gies ~BOPeTe 74, I8 WPRSE Do Somdipnnsl
550 Beroy SRCISE Sares
(2) SoPreTo GRS SePds - HBHETS (1) o, o8 swsEares
Seryd Ghasen = B LIPSO FWR S8es, (2) Sidngy B
(8 oo sbg ® senoTeres
(3) &:s;:ﬂaw'e: ﬁab@wah SR (4) Fostgsieo
ol Sties, BAIPH - POLTSTo3s, | 75, Ao HOSERLD, (SKesIes 0D - 30 D
e = Wﬂﬁmﬂ Fom repsio Sae
(4) B rEseyd, G - WOPETO (1) Sygouotis
S5 Beed¥ - 0o BAY - (2) BEswste
Segss it Sstes, sairb, (3) ety Bdsteo
(4) PBeve

WS-33/ TETcumTRT-111-EM/TM
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PART-IV
LANGUAGE II - ENGLISH
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76.

77..

78.

79.

WS-33/TET cum TRT-111-EM/TM

Choose the appropriate question to

get the reply.

'My father is a bank manager'.
(1) What work your father does?
(2) Who is your father?

(3) What is your father?

(4) Which work your father does?

You don't need this word. You should

Identify the correct preposition.
(1) down

(2) out

(3) over

(4) up

Identify the part of speech of the
underlined word 1n this sentence.

She wrote all her an swers neatly and
correctly.

(1) verb

(2) noun

(3) conjunction

(4) preposition

God performs miracles in the lives

of people who trust him. The word

miracle means.............

(1) an event performed by man.

(2) a very common event.

(3) an event impossible to God

(4) a wonderful event believed to be
bestowed upon.

80.

81.

82,

83.

(14]

He.....cco.. (fall) down just as he was
getting off the bus. .

Identify the correct form of verb
given in the brackets.

(1) has fallen

(2) fell

(3) was fallen

(4) 1s fallen

Complete the sentenec choosing the
suitable alternative.

Everyone's heard of 'United Team'.
They are the .................. (famous)
football team in the world.

(1) more famous

(2) most famous

(3) fame

(4) familiar

Complete the sentence with the
right question tag.

[ am a doctor, ............... ?
(1) isn'tit

(2) amn't I

(3) aren't I

(4) Am 1

She drinks milk daily. The negative
form of the sentenceis.............

(1) She didnot drink milk daily.

(2) She donot drink milk daily.

(3) She won't drink milk daily.

(4) She doesn't drink milk dailv.



84.

85.

36.
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Identify the correct order of the

words to make a meaningful

sentence.

in/ Paris/a bit/ my friend / difficult/

is/ finding/ life..........

(1) Life 1s a bit difficult finding my
friend in Paris.

(2) In Paris, my friend a bit life is
finding difficult.

(3) My friend 1s finding life a bit
difficult in Paris.

(4) A bit difficult in Paris my friend

life 1s finding.

Identify the word with the correct
spelhng.

(1) Uanimously

(2) Unanimosly

(3) Unanimusly

(4) Unanimously

[dentify the correct form of the
adverb to fill in the blank.

The postman brings the mail .........
(1) politely

(2) daily

(3) respectfully

(4) wisely

87.

88.

89.

(15]
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Choose the set of words which arein
alphabetical order.

(1) shiver — shriek — shake — sheik
(2) shake - sheik — shiver — shriek
(3) shake — sheik — shriek — shiver
(4) shake — shriek — sheik — shiver

Identify the latter part of the

sentence given.

I'd better reserve a scat todayi, .........
(1) in case thetrainis full tomorrow
(2) unless the train is full tomorrow
(3) while the train is full tomorrow
(4) if the train is full tomorrow

I'The box contained old books. The

verb in this sentence denotes ............
(1) action

(2) state of being

(3) state of possession

(4) ability

I helped .............. one-eyed beggar
while coming to school. The article
to be placed in the blank is ...........
(1) a

(2) an

(3) the

(4) no word is necessary

Turn Over



91. Identify the correct sentence.
(1) I have written the letter with ink.
(2) T have written the letter by ink.
(3) I have written the letter in ink.
(4) I have written the letter through
ink.

92. Identify the type of sentence given
below.
L.atha said, "Let me have an ice
cream”,
(1) Assertive sentence
(2) Imperative sentence
(3) Interrogative sentence
(4) Exclamatory-sentence

93. Identify the correct reported speech

form of :

Geeta said, "It is a wonderful

adventure!" :

(1) Geeta exclaimed that it was a
wonderful adventure.

(2) Geeta sawd it was a wonderful
adventure. _

(3) Geeta says that it is a wonderful
adventure. '

(4) Geeta exclaimed that it is a

wonderful adventure.

94. Identify the polite form of the
sentence :
Give me a pen.
(1) Will you give me a pen?
(2) Would you give me your pen?
(3) Could you please give me a pen?

(4) Can you give me your pen?

WS-33/TET cum TRT-111-EM/TM
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(95-98) : Fill in each of the numbered
blanks in the following passage with the
most suitable word out of the alternatives
(below the passage) given against each

number.,

Arabia is largely a desert with only
...... 95..... In the desert there
..... 96...... a few scattered springs of water
with green grass, fig trees and palmtrees
..... 97...... them. The Arabs .....98......
not in the cities live in the desert

sand and

are

throughout the year.

95. (1) boulders
(2) rocks
(3) pebbles
(4) stones

96. (1) are
(2) were
(3) was

(4) where

97. (1) around
(2) across
(3) along

(4) about

98. (1) that
(2) who
(3) which

(4) whom

[16]



BOOKLET @

(99-103) : Read the passage carefully and answer the questions given below it.

One cold night, two poor, ragged and hungry boys met a gentleman who gave
them each what he thought to 1;& a ten-paise coin. The boys found that the old man
had made a mistake as soon as they reached a shop. One of them said, "Look, the
silly old man has given me a rupee instead of ten paise. | shall have a good time until
it is spent". The other boy who found that he had also received a rupee instead of a
ten-paise coin said, "You don't suppose that the gentleman really meant to give us
these, do }"{]Ll"?. He was sure that the old gentleman had made a mistake in the dark.
"Of course", replied his friend, "and when he finds it out, he won't find me". The other
boy, who was honest, would not touch the money but his friend spent it. The next
morning the boy returned the coin to the gentleman, which pleased the old man so
much that he offered the boy, who returned the coin, a job.

99. The incident probably took place | 102. - Which of the following is NOT true

e in the passage?
(1) December (1) The boys disagreed about what
(2) March to do with the money.
(3) July | (2) The old man had told the boys
(4) ‘April where he lived.

100. Which of the following events | (3) The old man was happy to see
happened first? | the honest boy returning the
(1) The boys finding the mistakes S

(2) The boys discussing the mistakes

(3) The old man searching them out
to give them another coin each

(4) The boys, after getting the coins, | 103. When the honest boy returned the
reaching a shop coin, the old man............

(4) The old man gave the coin by

mistake.

101. One of the boys wanted .............. (1) was angry at the friend of the boy

(1) to call the old man and return who returned the coin
the coin (2) was angry
(2) to happily spend the money (3) was happy and also offered the
(3) not to tell anyone about it honest boy a job
(4) tothrow the coin away (4) wanted the honest boy to bring

his friend to him

WS-33/TETcumTRT-111-EM/TM [17] Turn Over



104,

105.

106.
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To develop skills of speaking

English among the pupils, the

teacher must encourage them .........

(1) tospeakin their mother tongue
as often as possible.

(2) to speak only after they have
learnt at least ten sentence
patterns.

(3) to take dictation as often as
possible.

(4) to speak English right from day

one.

Any written work in the class-

(1) must be preceded by proper
preparation at home.

(2) must not be given to all pupils
in the classroom.

(3) must be preceded by enough
oral work in the classtoom.

(4) must be followed by enough oral
work in the elassroom.

How many syllables are there in the
word ‘machinery'?

) five

(2) two
(3) three
(4) four

107.

108.

109.

110.

(18]
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The tecacher must avoid the
following types of questions while
testing comprehension.

(1) Lower-order questions

(2) Higher-order questions

(3) Yes/No questions

(4) Wh-questions

Pupils find it difficult to write correct

spellings because ...........

[lg/therc are 26 English lettersand
44 sounds in the English specch.

(2) there are 26 English letters and
40 sounds in the English speech.

(3) thereare 5 English vowels but
24 vowel sounds.

(4) there are 21 English consonants
but 20 consonant sounds.

Identify the word which is NOT a
content word.

(1) Book

(2) Run

(3) Big

(4) In

Identify the two statements that are

'true’ in the teaching of a poem.

(a) A poem should be experienced
but not taught.

(b) The teacher must plunge into
the poem.

(¢) The poem should 'be taught
exhaustively.

(d) The teacher should get her
pupils to write poetry.

(1) (@ and(c) (2) (a)and(b)

(3) (a)and(d) (4) (b) and (c)



PART-V BOOKLET @ -
'MATHEMATICS
12 j ! 1 1
111. The rational number = lies | 1i4. IFHZB=§ : ) and B:Cz-é - 5 then
bebween. R A= B OAE L diiiie
/| and
(}‘JE J- ﬂ.B:l:—l'H:EEﬁ::BC:l:l
wosis A s B G s
(3 5 and f7 |
1.1 ... 1 & 1
4 and bofi Wb oo % g e s
(lé‘ﬁ Vi1 M3 12’0 @2 12720
?m@mmmmmmﬁ: (3) 4:8:9 (4) 9:12:10
(1) J2 wBais |f3 115. A student got 75% of marks in
(2) 3 w0 J5 Mathematics. He got 80% of
3) J5 w0 7 Mathematies' marks in English. If
the examinations kept 50 marks
(4) 7 S8 11 1 . .
each, his marks in Englishare ...........
112. If 'n' is a positive odd integer then 28 Do;03 KedB 508" T5% Bordo,eo,
(n+1)° ~n(n? +2n +3)_2 R sorsns® Hedssns® ot a6 80%
divisible h‘_‘,T ............ R ol $0ge> 2am 50
= m% Sz e DBirol eolfsad® ol
R RO
JZESE00TT GPACI SOy evsesenes (3) 50 (4) 60
(1) 8 (2) 6 116. Mean of 9 distinct observations is 20.
(3) 9 (4) 7 :
If each of the largest 4 observations
i 2
113. Given that &=1-414,£=2-235- is increased by 3 and the least 4
8
1 b tionsisd dby =, th
[ O YO, Y T apto 4 observations 1s ecreas-:te g 3 €
10 mean of the resultis ..........
decimal placesis ........eeeene 9 D T Siesd 20, KOS ok 4
' 1 B — Siid Dotsoo 3
V2 =1.414, 5 =2.236 w05 = R i i
4 TFRER — Tiipow BROWS WihEs St
Tl LTS TP U5 s 8 3 o
) i 192
(1) 0.3162 (2) 0.0316 (e (2) 193
(3) 1.0792 (4) 0.1079 q 1
(3) Eﬂg (4) 219
WS-33/TETeumTRT-111-EM/TM (19] Turn Over
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117. At what time will the angle between | 120. Two numbers are the ratio of

the hands of a clock be TU“, after Jlﬂ : \fﬂlﬂ? and their sum 1s 462.
6 pm? Then the numbers are. ...........
mlﬁﬂ-‘*—’: fioeo 060 NEOIFTRNS CotBopw 58 13 1 V2197 w00k
e b e TP WeoiBion 462 20030 €3 SO wiasnnes
(1) 620 am (1)'33,429  (2) 62,400
(2) 6.10 pm (3) 66, 396 (4) 36, 426
(3) 6.30 pm
(4) 6.20 pm 121. Factors of [uﬂ --bz]ﬂ-h(bz—fﬂ)ﬂ
5 4 2 1 o -

118. & *h of a certain amount exceeds .
of the amount by 11 rupees. Then (ﬂz -*bE)E +(bﬂ -L‘E}u o
the amount in rupees is ......... ST el e ______

5
Seuds0s’ 5 B Howo B0 e

m&%anmm 11 Erdrosses

h imﬁ,uﬂ'ﬁqﬁﬁm..m..

2 . (4) {a—b},(uc+b2)

(1) 35 (2) 38

(3) 42 (4) 45 122. Setbuilder form of a null setis ..........
119. In a kiddy bank, Rs. 2 coins are 2}- ng i

a| o<y of-d
tiflies that of Rs. 5 coins. If the total W {% <o) @ %=
amount of those is Rs. 240, then 3) :% _ ‘?5} (1) {% 4 I}

Rs. 5commsare .....coeeuee.s

1 123. The number of non-empty proper
3¢ orySitots 5 Wrirane TERweD 25 subsets of a set A is '0' then n(A)
Bexw 2 RSO0 TRARwse: Sot. T Wiisisiavaan

oot 240 BrSrcoses eat b LS

BD00 A 300 5 &S otoe oy 0"
PLTROE RO5Dg seessnss

(1) 60 [é] 94 £90050 n(A) T S
(3) 42 " (@) 56 (1) 0 2) 1
(3) 2 (4) 3

WS-33/TET cum TRT—lll-EMM [20]



124.

125.

126.
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o (x+2) 41
xX+2

=3 then the value of

. B
(x +2) +1 ”

{x+2f ...............
(x+2f+1=3 ﬁ(:+2f+1
x+2 {x+2f

SJEIN) essessnnasnnas
1) 27 2) 18
3) 36 (4) 3

The circumference of a circumcircle
of a triangle whose sides are 3 cm,
4 ¢cm, 5 cm respectively is .........

in cm.

3 2o.b0., 4 2.0, b o0, oo o
©goernd Aobnds SO0 BER oW
06".ccctinrnnes '

(1) 57 (2}-‘;-
(3} T+H (4]' Tr—5

The cireumradius of an equilateral

triangle of side 4./3 cmis.....incm.

£ S0eriT0 (BEe Gook), 250 44/3
2o, wod O SODHY TR
20.00.08° ..ccvverees

(1) 23 (2) 4

4
(3) 3J3 @ 75

BOOKLET @

127. The diagonals of a quadrilateral are

equal and perpendicular to each
other. Then the quadrilateral is.....
(1) rectangle

(2) square

(3) rhombus

(4) trapezium

.5 Sfolnmico Ao, Sthcoes BGpth
owoowy wolainn BRFRENEY BOoh U

(1) &y wooigsass
(2) DBolEEE

(3) SS9ty
(4) Shovcw Bttinwae

128, In a triangle ABC, an incircle 1s
touching the sides AB, BC, AC at D,

E F.IfBD=56¢c¢m, CE=6cm and
AF=17cm, then the perimeter of the

triangle 15 ....coiviees

(1) 13em  (2) 18cm

(3) 36 cm (4) 42 cm

ABC |Sgiownnod’ fiokwds eodtiyydum

AB, BC, AC & D, E, F o 55 o
BB, BD = 5 20.0., CE = 6 Bo.20.
So0cio AF = 7 Do.. ecood e (@goe
o033 E'8 ceceriariiras

(1) 13 Do, (2) 18 o,

(3) 36 e, (4) 42 o,

[21] Turn Over



129. The lateral surface area of a cube is

130.

131.

WS-33/TET cum TRT-111-EM/TM

576 cm? then the total surface area

(2) 864 cm?
(4) 648 cm?

SAD 3,80 JTegin 576 B.he..

(1) 1728 em?
(3) 745 cm?

(1) 1728 v.20.00.
(2) 864 w.20.50.
(3) 745 B.2e.00.
(4) 648 S.>c.00.

If the radius of a cylinder is doubled
keeping its lateral surface area the
same, then its height is .............

(1) halved
(2) doubled

|
(3) 15 times

(4) threetimes 1

AZRR - Gy, TERHoT progato
SIS GBI T TS
R~ L T

(1) Bia e

(2) TR el

1
(3) lé-'ﬂt.zgézam
(4) 3% sctio

A circle of radius 3 ¢cm is inscribed
in an equilateral triangle. Then the
area of the triangleinem?®is .........

(D) 2743 2) 9
(3) 93 (4) 81

132.

133.

134.

(22]
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See g0enné’ 3 20.00. TR
Mo Spin woBlOPoD exdid, (Gbe Werogin
(1) 273 (2) 9

3) 93 (4) 81

If the mean of a set of observations

....... X,, 18 20, then the mean
of x, +4, x,+8, x, +12,

Xy Xy eerrnrenenness. Xy COOGROE SHeso 20
oo x4 4,0, +8, x, +12, ...,
| L (L ———

(2) 42

(4) 40

(1) 84
(3),38
If the mean of n observations is 5
and each observation is doubled and

1 is subtracted, then mean of the

new 7' observationsis.....oee.....

'n' woEhe Shes § ecasts, 5ot 58
s Tle) Wi 1.0 Belolm D
(1) 2n-1 (2) 10n-1

(3) 9 (4) 5n

Mean, median of an ungrouped data
14, x, 5, 18,171s y. If y =x + 1 then

medianis.........

14, x, y, 18, 17 &5 el Sopoad Sk
oiSs GG y SEESe y = x + 1 esonch

0%5g WD wueveeereses :
(1) 14 (2) 16
(3) 17 (4) 18
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135.

If the child verifies that the number
2 1s one of the root of the quadratic
equation x?-4x+4=0, then the
ability of this student comes

(1) knowledge

(2) understanding

(3) application

(4) skill

D@ x* —dx+4=0 &3 B SAoRETI3
25 Soreiios (2) el H50 Brtisucssd el
e oFrTRE DEBDD eeeeereens

(1) v (2) e
(3) AP (4) Doeage

. One of the following core elements

137.

WS-33/TETcumTRT-111-EM/TM

implemented in the programme of

N.PE.is........

(1) Physical Facilities of Schoal

(2) Teacher Training Programmes

(3) Continuous Comprehensive
Evaluation

(4) Mandal Resource Center

SO DIRGDTIIID Sowodol &¥
(1) £R8E Srodrditasen ¥Dyotae

(2) Birgrgis BYe™ TOHERRD

(3) VoBy S NeraoETe

(4) Sotse S5t00 (Dowtn) Sogsin
The extreme accurate value of
n=3.1416 is given by ...............

(1) Bhaskaracharya

(2) Brahmagupta

(3) Aryabhatta

(4) Archimedes

138.

139.

140.

(23]

7=8-1416 & PR Dexsss DT>,

(1) PHoTs (2) @imits

(3) wS&w (4) &

One of the following is used to find
out the errors of pupils while doing
addition of positive and negative
Integers.

(1) Observation

(2) Dhary

(3) Intelligence

(4) Diagnostic

womtooe  ETMEE worrgY  Hogpgeito

HoSodita Akt oo Som
Fo0oBEr a3 ESGITAcD SIS,

(1) 5080 @) o

(3) o= (4) 8%dtes

The father of Demonstration
Geometry is............

(1) Pythagoras -

(2) Euclid

(3) Plato

(4) Archimedes
SE5S 2008 STRITUED e

(1) Do (2) arif
(3) &s* (4) ebRad
Self-evident truths are known
Bl

(1) postulates (2) axioms
(3) lemma (4) corollary

:%W 13%35-"-" ESLNTT® vesasnassussns

(1) ave (2) SHYIrPo
(3) Bamy (4) EshomoBn
Turn Over



PART-VI (a)
ENVIRONMENTAL STUDIES
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i41.

142,

WS-33/TET cum TRT-111-EM/TM

When a sound wave propagates in
a medium, it transfers .............

(1) energy

(2) medium

(3) energy and medium

(4) momentum

85 CUPOS0S" SOUPHACREIDED vursasrens =
Tt Rt

(1) %3

(2) csmasER

(3) %3 HoBoo ciF N

(4) (Eoginan

In reflection of light, the angle of

incidence is measured ..........

(1) from surface of the plane mirror
to incident ray

(2) from normal to incident rav

(3) from surface of the mirror to
normal

(4) from normal to reflected ray

Do HOWEEHE® BB MBI (308

(1) Scte &heso Beo Mool SEvitnroe
SO

(2) 265 DoBsy) B ADS vome W00k
SES3r0 BB

(3) Hote SHhme Heo Yool oo HEKD

(4) Bois Dolsiy $& AN eowe Mook
DTG 300 WS

143. A solid piece of iron sinks in water,

144,

hut floats on mercury. This is

because the .........

(1) average density of water and
mercury is less than that of iron

(2) density of iron 1s less than that
of water as well as mercury

(3) density of iron is more than that
of water but less than mercury

(4) density ofiron is more than that

of water as well as mercury
uassd B3 nutrsted T FiHses’
Dostosd, Jotio¥ol sereeee.
(1) S%, istison Sk, SN0 S
000 oD Fol BB '
(2) oo SPosh b, rESIce Poliie
5ol B0 R
(3) @acan ol Med ot Soid NEUHN
PLETI0 PO Kol XS
(4) Faashu ol O, PEESCs SPetde
Soll 25y

The temperature 250°C is equal to

" ivivi....in Fahrenheit scale.

[24]

250°C Jeos D05 S5 157008 e
(1) 482
(2) 450
(3) 350
(4) 500



145.

146.

147.
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Latin name of Tungstenis............
(2) Wolfram
(4) Plumbum

(1) Stannum
(3) Stibium

uqﬁ;gs G5, S DD ssssasanass

(1) % (2) 60
(3) dawe (4) Bowo

Sodium chloride ‘reacts with
concentrated sulphuric acid to form
(1) H, gas

(2) Cl, gas

(3) HCI gas

(4) []2 gas

Koo Sobmg samydesgott sy
(1) H, sraiod

(2) Cl, Wiy

(3) HCl sraswy

(4) O, Ty

Two mutually perpendicular
veclors, scaling 3 and 4 units
respectively were joined. The
resultant will be .........

(1) 7 units

(2) 12 units

(3) 3.5 units

(4) 5 units

3 e, 4 GO 1o Tt SHHT oot
OEme Sossdedoe. o 00 0 ...

(1) 7 e

(2) 12 cvorless

(3) 3.5 ciare

(4) 5 clrdew

14 8.

149.

150.

[25]
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The volume ratios of concentrated
HNO, and concentrated HCl1n aqua

regiais........

0P8’ TS BIDTIN00, T

2 ESTomiine JSOEreine 29 ..
(1) 1:3 (2) 3:1
3) 2:1 4 1:2

Our Indian scientist Jagadeeésh
Chandra Bose discovered this to
find out the growth of plants.

(1) Seismograph

(2) Creseograph

(3) Therningraph

(4) Monograph

05 G0 TG erbEtel 5%, 2uoE)
Btotiseo HYoUEHE DO,

(1) 5H¥ws

(2) 3¥5

(3) Ik

(4) W

The gas, responsible for global
warming is ............

(1) nitrous oxide

(2) sulphur dioxide

(3) carbon dioxide

(4) hydrogen sulphide

Rebmoeh (FRosIgtn) B tmasd
e s

(1) Do &2
(2) B0 BeZyG
@) TS B3
(4) PE=SIBE

Turn Over



151.

152.

153.
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Ramu has a pet cock, having the
pugnacity, high stamina and
majestic gait. This variety of the

(1) Leghorn
(2) Anoka

(3) Aseel

(4) Hampshire

oRh Doas'd Fod B, wDY %3,
B850 DR &0B. TPX B5C wersssrsesss

(1) 2RsG, (2) o
(3) etsb (4) 55526

In a paddy held, yellow colored spots
with dark brown borders have
appeared on leaves and the leaves
are falling. The disease is ........q4
(1) blight of rice

(2) blast of rice

(3) red rot disease

(4) tikka disease

2.¥ 50e0d’ eathed Sidop Lol Wotpes,
Hopagr At ol eownl’ Sy o
Slaiin wibes EIFBTHM & T B
@ 308

@) %0y

(3) Bip Brows

(4) Szmioes

Rhinoceros beetle is an insect pest
of this plant.
(1) Mango
(3) Grape

(2) Citrus
(4) Coconut

154.

155.

26]
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Sbantond o (B5%oh H:i36) e

S8 p0 9 S
(1) sraod 2) o5,
@ o (4) Eep

In this method, the natural enemies
of weeds are used for control.

(1}. Crop rotation method

(2) Biological method

(3) Physical method

(4) Chemical method

e SEOS' K IBY® TT0, T
S BT AUBTAD.

(1) $0u 3P0E 558

(3), Shorr 550

(3) Fossss

(4) SRRSO

A boy 1s suffering from painful
swelling of salivary glands and mild
fever. The disease maybe...............
(1) diphtheria

(2) swine flu

(3) mumps

(4) influenza

£¥ Deoth Cousliclse T3, Sy, S
508 TR, TR 50 THI)
(1) &0
(2) Dewr

(3) MHtsen

(4) S0



156.

In our eve, the rods cannot

 distinguish ............

157.

158.
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(1) one color from other

(2) all colors
(3) blue and red colors

(4) green and yellow colors

5% 5o36%) tsowren (0°6,)) 10800 ....
(1) 5 Sl Dood BB oo

(2) e, borter

(3) Roo, SUg Soloe

(4) estody, BP0

Nasik 1nscription laid by Gautami
Balasri is the main source to know
about ...............

(1) Mouryans

(2) Guptas

(3) Satvahanas

(4) Pallavas

oD ero?, 0abd S 79k 10

(1) aT s
(2) Koges
(3) mrETLvoen
(4) Sedew

The father of modern medicine 1s the
title of the Greek scholar ...........

(1) Socrates

(2) Hippocrates

(3) Anstotle

(4) Euclid

159.
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estiods P BTUITIN Bored fi
SOGEIED wervsarnernsnns
(1) B3

(2) FyEed

(3) 03d

(4) o3l

Tolkappiyam isa treatiseon ...........«
(1) political history of Tamils

(2) Taml grammar

(3) Satvahanas

(4) Cholas

S'Erlboie’ R0, B DXgiE B o
(1) BDthe oredah S0
(2) BRstbo b

(3) w0

T (4) Seoe

160.
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The credit of constructing a new
capital named Persepolis goes to......
(1) Darius-I

(2) Alexander

(3) Seleucus

(4) Philip

2O, &R P8BS TreEorId 0PN
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PART-VI (b)
ENVIRONMENTAL STUDIES
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161. The earth appears in blue color from

the space because of .............
(1) covers by clouds

(2) covers by vegetation

(3) covers by water

(4) covers by air pollution

000 Mol BID St KOSt

iiiiiiiiiiiiii

(1) oo psin Hotow
(2) desyee, DT Hotow
(3) movsnBRyHotiow

(4) Sross e Yotow

162. The 'shield ofice'18.....ccovevveees
(1) glacier

(2) a frozen sea -

(3) an ice covered region

(4) snow mountain

AT TR~ UL g DA
(1) ipard S5

(2) KE RSSSaEe

(3) soctosh S eds Dot

(4) oot BGBRes

163. The temperature at the center of the

earth will be .......
(1) 6600° C only
(2) 6000° C only
(3) 8000° C only
(4) 8600° C only

LPD0 TP WS B0l AT evererens

(1) 6600° ..
(2) 6000° »e.f.
(3) 8000° 2.0,
(4) 8600° 2.{.
WS-33/TET cum TRT-111-EM/TM

164.

165.

166.

167.

(28]

The horizontal distribution of
temperature in the world can be
shown on map with the helpof .......
(2) isotherms

(3) isohalines (4) isohyets

Bl TR Sifcinand sovcs’ &PKG
Glosk, 3o Sarcdy &N Dok’
5555
(1) Soersdpes

(2) S ome
(3) ssvsdanorises
(4) SSosEDNs Cpen

Prakasam barrage was builtin .......

(1) isobars

£557%0 B DB BOIEWO cevseanens

(1) 1753 (2) 1858
(3) 1933 (4) 1853
The minimum calories of food per

day should have in rural area
rdoes (Srobnnd® St wiyotd 5%

------

(3) 2,200 kCal (4) 2,450 kCal

'Income Theory'is also known as .....
(1) Macroeconomics

(2) Microeconomics

(3) Agricultural Economics

(4) International Economics
‘aTrdh BIPebo’ B g Ul PG ENNy
(1) 370 egmigses

(2) 3 g

(3) Bgea wPFian

(4) wovgban egmgans
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168. The beneficiaries of Provident Fund | 171. The provision of providing education

ATE vuverrrvrnnes | to the chaldren between 6 to 14 years
(1) daily employees is incorporated in ............ '

(2) permanent employees (1) National Policy of Education —
(3) contract employees 1986

(4) owners (2) State Policy of Education — 1985
(Bt ob (AT KRS T oo (3) National Policy of Education —
(1) &w5sd 5‘%}&0 1987

(2) 2ig5 3O (4) State Policy of Edueation — 1988
(3) 250l 00w

(d) Cesmaons 6 ool 14 S3cB\Ihne Bols Sakds, e

20 JITTeRy EoTed woido
n0t0E” Pl BEIEOD wecerens

(1) E8an Dorggrvass - 1986

(2) TR ITrleTRE - 1985

(3) =rdai Dorgeristes - 1987

169. The term, 'Secular' is added to the
preamble to the constitution
according to .............

(1) 42" Amendment Act
(2) 43 Amendment Act

(3) 44** Amendment Act (4) ORI - 1988

(4) 45" Amendment Act 172. The earliest of the inscriptions

2ireeil (E°AY) eiobso apen hoss o issued in India belongs to ............

TP ol 153500 TR0 SBdos. (1) Chandragupta Mourya

(1) 425, Trezmeali 500 (2) Chandragupta Vikramaditya

(2) 43 %, ooz 550y (3) Ashoka

(3) 44 &, Treeeli 300 - (4) Harshavardhana

WD =; sl 0 ool Diose Sabeds & Tusse
170. The system of electing the head of ot oL T T

the stateiscalled........... (1) Dol w3,

(1) Republic (2) Aristocracy (2) DolBios DESTLG,

(3) Monarch  (4) Hereditary (3) est

T QiapST DeFy B 3o (4) mgos

EIOLTUD susesssssens

(1) Kesboion (81505)

(2) 2088 e

(3) oudEeed

(4) wcuvo st

WS-33/TETcumTRT-111-EM/TM [29] Turn Over



METHODOLOGY
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173. A person with scientific attitude will

174.

WS-33/TET cum TRT-111-EM/TM

not possess .......

(1) curiosity

(2) broad views

(3) critical thinking

(4) taking decisions Withﬂlllt proper

evidence

Tooy0 R0 SO 93 e (300 ofewd) DA

BOEESS Jivividiasiens

(1) HBrrec

(2) S0 H¥Tre

(3) Daotaro,s esbhes

(4) ﬁ&cﬁ&wawﬁ%ﬁa

One of the following is not the

characteristic of objective type tests.

(1) One can write the answer by
Fuessing

(2) One can give questions on the
whole content

(3). Difficult to score
(4) Reliable

(1) Gured emreoos THOksN,
(2) Soerededp HHlosay
(3) riess oo B0

(4) Vgt SBAGotwe

175. Definition of a unit as "a large block

176.

of related subject matter as can be

overviewed by the learner” is given

(1) Morrison
(2) Preston
(3) Ryburn
(4) Samford

DD Brire,  SGHY, Sowcene
DS RS ES IR o a5

= &cd DEDOU0 TPLD wervennrsraes

(1) 278358

(2) g

® 25

(4) =P

The method that is most suitable for
teaching 'Food habits of birds' is the

(1) lecture demonstration

(2) heuristic

(30]

(3) project

(4) lecture |

SHo LFEH) o hsﬁﬁ‘qsﬁ. P
SR J—

(1) songs ety 50

(2) edyses 5e0

() B S50

(4) &Smpgs 50



177.

178.

WS-33/TETcumTRT-111-EM/TM

Student collects wild animal dolls.
This behavior of the child comes
under the objectiveof .............

(1) application

(2) attitude

(3) interest

(4) classification

DD eatid motugew Do SS0owe.

DTRD (SR8 T oZiE BelRl s

(1) DD@FHI

(2) 200

(3) e

(4) “ostes

Among the following specifications

which one comes under the objective

of interest? .

(1) Expresses opinions on national
1ssues

(2) Participates actively in civic
activities

(3) Appreciates cultural variations

(4) Respects others' opinions

308 ByuStned® LNl townodods

(1) o 55350 D oD e
DOAHBEC0E

(2) FetyEared® Btbim St

(3) WEE:);EE&&:SJ esdioolovnts

(4) gBte edrairein MEDoWwWS

179.

180.
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The teacher uses this type of chart
to help pupils to learn more
knowledge from less number of
items.

(1) Timeline chart

(2) Flowchart

(3) Table chart

(4) Flip chart

DS woTe O SN0

eclolid | eTTrOin Ul

TR

R

(1) sedo o

(2) Eoie o

(B) SgE T

@ vt

This is the limitation of essay
questions.

(1) Encourages rote learning

(2) Develops retentive memory

(3) Develops expressive abilities

(4) Develops creativity

B0l DOH T3E° ¥ Tgsirse e
SO0,

(1) wg Dol Foamisecd

(2) orOes BE0 Dodrolised

(3) prisigiute PYHEmEs Dorodiod
(4) RerroSEE0 efipd Bikod
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